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IMm =
100 cm
2 IM =
20 cMm

30 cMm =
3 M



3aM+2cM=
32 cM

l M+ 6 1M=
160 cm

IlM—5 M=
50 cm

IM—1 M=
0 cMm






OnpeneseHue BpeMeHH 110
Jacam.»

_l Y3Harh, CKOJIbKO MUHYT B | yace.

I Hayuutbcsa onpenenats BpeMs o 4acam.



MBI X0OUM HOYBIO,
XOIHM JTHEM,

Ho HuUKy/1a MBI HE YHJIEM.
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BoasHble yachl










MexaHHu4ecKHe

JJIEKTPOHHLIE Yachl
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1 gyac = 60 MuH
1 MuH = 60 ¢



80-20-60=0

100 — 10 — 40 = 50
64 = 60 + 4

13-6—-4=3
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N

Jlomanigee 3agaHue

PabOouas teTrpanb: cTp. 33 Nel4, Nel6.






